BI DMA’ Help Code : 001

n Here are five number cards. 2010A KSZ Q14
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n Write one number from each circle to make this calculation correct.
40 Use three of the number cards to make this calculation correct.
50

N | —

N = (-Uh---
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Write the correct sign >, < or = in each of the following. m Calculate 900 - (45 X 4)

\ (10+5)-9 (10+9)-5

%
2 2 Q21
3x(4+05) (3x4)+5 . 004A KS2 Q

(10x4)+2 10 x (4 = 2)

o Write in the missing numbers.

» 45 - 110
B (rackets) + =
Indices 2 3 If it's
Divide - higher on (4 x b) - _ 12
Multiply X the list it
Add + MUIST be 50 ) ; _

done
btract -
R - @


https://www.youtube.com/watch?v=6HUY_BW5c9U&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=24
https://www.youtube.com/watch?v=rfVLC4soovk&index=13&list=PLS3PH82bo0VDe9klJ5sY2Mfw12WyBmgEw
https://www.youtube.com/watch?v=PxwB_DAWgas&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=25
https://www.youtube.com/watch?v=BdiVdJ2PAY4&index=13&list=PLS3PH82bo0VD3wOBNNCYB2d5Se1GGVyyI
https://www.youtube.com/watch?v=WMUReV2tYAQ&index=5&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.tes.co.uk/teaching-resource/Y6-KS2-SATs-mental-maths-question-generator-program-interactive-and-self-marking-11013595

BIDMAS PRACTICE.M,

). 7+6x2 2). 5x3+4 9+34+5 1022
5). 7+12+4 6. 21+7-2 7). 12-42+6 8). 14+3075
9). 19-15=3 10). 124186  11). 3+5)x2 12). 12+(7-3)
13). 15x(9-7) 14). (16-13)=3  15). (11+9+4  16). 7+24+6
17). 22-6x3 18). 4x5-12 19). 40+(12-4)  20). (24-9)+3
21). 4+ 22). 17-4 23). 10-2° 24). T+ 5
25). (3 +2) 26). (14 + 2y 27). (6-2) 28). 6- 22
29). (2x4) 30). 10+ 7 31). 3°-7 32). 72-20
33). 3x 4 34). 20+ 22 35). 36-3 36). (16 = 8)
37). 62 +4 38). (4+6)° 39). 43+8 40). 4x 5
4). 6+12+4-2  42). 3+9)+Q2+1) 43). 6442+  44). (6+27-1
45). 30+ (4+2)+3 46). Sx(2+3)-4 47). 36+(6+22  48). (8+4)x3-2
e.qg.
Q48 (8+4)x3-22 do brackets first
2 x3-2° do indices next
2 x3-4 do multiply next
6 -4 do subtract last
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